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Run 5959 mpswise, BCM: All

E Entries: 118276
60000 — Mean: 1216202 4/- 0.1483
[ Sid Dev- 51.0042 o/~ 0.1048
50000 —
40000 —
30000 —
20000 —
10000 E*
EI | | 1 | 1 O | | Ll | L_L | |.—.h_J-. | 1 | =l | | |I_r|J-| 1 -IL | I |
0 20 40 60 B0 100 120 140 160
bem
Run 5959, mpswise, BCM: Beam ON, Laser ON
15000 — Entries: 481856
B Mean: 1452120 +/- 0.0196
10000 N Std Dev: 4.3428 +- 0.0138
- |
8000 |—
6000 —
4000 —
2000 —
.D_ll||||||||||||||||||IJ-I|_|-u_|_r|-—|'L|_|.—I-|_uJ_|L|-|.|| N

110 115 120 125 130 135 140 145 150
bem

Run 5959 mpswise, BCM: Beam OFF

14000 — Entries: 16319
:: Meari: 001093 40~ 00026
12000 —
:: Sid Dy 03196 - 00078
10000 I
8000 [—
6000 I
4000 [
2000 [
'D“"'ll"ll"ln"'"l"'l'”ﬂ'll"l"'ll
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6
biem
Run 5959, mpswise, BCM: Beam ON, Laser OFF
— Entries: 44531
L Mean: 1449540 /- 00244
10000 —
— Sid Dy 515620 - 00173
8OO0 —
6000 — [
4000 —
2000 —
D_||||||||||||||_|—|—.||||||A|-||-|J_||'h|||||||||| ||;|_LLl|||||

110 115 120 125 130 135 140 145 150 155
bem



60000

50000

40000

30000

20000

10000

25000

20000

15000

10000

5000

Run 5959 mpswise, lasPow: All

= Endries: 118276

Mdaan: 23,1964 +4 3.052%

Std Dew: 10453266 +- 1.158T

| ]_ | | |

-
T

|IIII|II.: 1 I—|II

|
2000
cavPowerCalibrated

=
m_
=
=
—_
r
=
—
Lh
=

Run 5959, mpswise, lasPow: Beam ON, Laser ON

Eniries: 4810&

Mean: 2138.5762 +'- 05231

Sbd Dhev: 11680748 +/- 03659

||||..J..|.-.|r|-.+.|._.|.|..l||4|||||||||||||||||||||||H| L1

1400 1500 1800 1700 1800 1800 2000 2100 2200 2300
cavPowerCalibrated

12000

10000

BOOD

G000

4000

2000

40000

35000

30000

25000

20000

15000

10000

5000

Run 5959 mpswise, lasPow: Beam OFF

Enlrie=: 155319

Mean: 162.1904 +/- 3.9313

Stdl ey SHEETAT 4~ 27750

| il | | | | | | IIJ-II |

=

1500 2000
cavPowerCalibrated

Run 5959, mpswise, lasPow: Beam ON, Laser OFF

Eniries: 44531

Mear: 69433 +/- 00360

Sid Devy: T.B052 - 00255

|I||||I||||IH||

10 20 30
cavPowerCalibrated



Run 5959 mpswise, bpmAx: All Run 5959 mpswise, bpmAx: Beam OFF

E Eniries: 118278 : — Enitrie=: 16319
— Mean: -1.0847 «- 0000T |— Mean: -0.8511 «/- 0001 &
20000 — —
— Shd Dev: 0.2247 4/ 0.0005 B Sid Dev: 0.3296 o~ 0.0013
18000 £ 1200 —
16000~ 1000 —
14000 — —
12000 — 800 —
10000 u
= i BOO —
BOOOD — | |
6000 — 400 —
4000 - u
— 200 —
2000 — -I'LLL B
lDZIII-J-lll|||LI||—'''_rr-'JI-I-IIL'-;-I—TI_l'I—l-|II_I_I||||||||||| _|||||||||| ||||||||| .—lJ_||-|J-.|I|-|—IIII|II
-1.4 -1.2 —1 0.8 0.6 0.4 0.2 0 0.2 0.4 ij‘l 4 -1.2 —1 0.8 0.6 0.4 0.2 0 0.2 0.4
bpmAx bpmAx
Run 5959, mpswise, bpmAx: Beam ON, Laser ON Run 5959, mpswise, bpmAx: Beam ON, Laser OFF
2500 —
— Entrigs; 4591 86 — Entries; 44521
_ Mear: -1.1671 +/- 0.0001 1400 — Mear: -1.1642 +/- 0.0002
2000 — Sid Dev: 0.0308 +- 0.0001 L Sid Dev: 0.0358 &~ 0.0001
— 12040 —
- 1000 [—
1500 — [
- 800
1000 _— &00 [
n 400
800 — -
| 200 —
0 N A N N N O O A O I N N T N O P A A B B 0o N I et |
—1.3 -1.25 1.2 —1.15 —-1.1 —1.05 -1 —0.95 1.3 -1.25 1.2 -1.15 1.1 —1.05 -1

bpmAx bpmAx



20000

18000

16000

14000

12000

10000

BOOO

6000

4000
2000

Run 5959 mpswise, bpmAy: All

_LII|III|III|III|III|III|III|III|III|III|II

Enilries: 118276

Mean: 00282 o/ 0002

Sid Dz 0L0ETT 4 00002

o
i

3000

2500

2000

1500

1000

500

Run 5959, mpswise, bpmAy: Beam ON, Laser ON

Eniries: 4810&

Mean: -0.03003 «/- 0LO0DE

Sid Dey: 0LOTAZ - 00002

1200

1000

800

600

400

200

S
=

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

Run 5959 mpswise, bpmAy: Beam OFF

Enlrie=: 155319

Mean: 000171 4+~ LDDE

Sid Drev: 01028 & 000086

Run 5959, mpswise, bpmAy: Beam ON, Laser OFF

Eniries: 44531

Mean: -0.0435 o - 0UDODT

Sid Dev: 0LO7IE - 00002

é}_lll|III|III|III|III|III|III|III|III|III|III|II




Run 5959 mpswise, bpmBx: All Run 5959 mpswise, bpmBx: Beam OFF
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Run 5959 mpswise, bpmBy: All Run 5959 mpswise, bpmBy: Beam OFF
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